40

MERSI—F| X 9 %8 th 5 N 4 E ®EE S *H*ﬁ“liﬁiﬁ_lt7kfiﬁ”§ 38 i
(

GA EEMm g K %'33(_)5 T 17,18 ﬁﬁ%ﬁzzﬁﬁ?ﬁﬂ‘ﬁy 3‘@%% 39 ) HEs E OB % @

=

1 : 500
0 10 20 30 40 50M

P2

A= 2-09-39
R =100

TL= 1. 886
Cl= 3.771

a= 4,
b=17.
o=

5. 68 g
SL= 0.018 -65633. 270 © X = -65620. 149 1 82571
- ~40678. 924 Y = -40683. 608
L T 7T I T T ¥ v v v «x .
o NO. 212
____*O_'ﬁ— ————— ”~_T_—_‘"‘___-_<>—_o ————————————
I Q T
BREESE
% 112-1

~
-
-
—
-~
I~
\\
\\
<
=

1 6NN

BEBTE s=1:100

NO. 214

GH=14. 852
| 15. 050 | 20.00_
I I _|
— —1 |GL=14. 852 m -
15.00 |
/ _— —/ R
™ p—
S _
e 10. 00 |
et 5 - A _ — —
B fEE R s=1:50 i
N/ |8 —
& |2 —
S = 5.00 —
=
s 3 SH S . =1: : 2L o
B RfgER s=1:50 H=1 1000 |
_: XXX
F DL= 0.00
03600 0.9%0 482.974m (13400 1.0%0 325.054m
4300
C BMITX 40T 482.974m 39-5TX 237.276m
o iz
450 30 2800 00, 450 . = - R - . . = - .
S0 20, 5 R RIEA6S R RIBTF 7 ) (@) — ikt RIEA6S R GRIBIRF 7 ) f
e isk N N %5
7r BR c F
[«
ﬁ | | IT1 | | | | | | HE *ﬂ
S = ) O~Lo e) © © < W ™
R1 + % Y e 8 NS = & % 3 Q 54
~ o 00 000 ~ 0 W o &
| | IT1 | | | | | | |
(=] N [aN\Ia\KqN[aN] N N [aN] N N N N 3
<t Lo — O <t~ < N — Lo 0 [ce) (=}
iﬂj, ﬁg —'%— [ap] [ee) I\QDKDLO (9] [ap] ﬂ' < < <r (3p) H
~ ™ < < < < ™ ™ ™D M ™m ™ ™
g o T T T T T - T
% § | | 11 | | | | | | |
~ o < DO < — < © o © =2 | o
1350 700 1350 = E = A S 8% > L © &= ® N A I
= — — ——— — — <+ & < < < £ A
I T T TTT T T T 1 T T
N N SN N g & 28 &5 N R
2 < < oSS~ < ) ~ © 9 o <
= BN o~ ™ B ™ o - = = ™
S AN = S o o oo 9 S 16
2 2 22ee 2 2 2 22 8 2 &
8 | | IT1 | | | | | | |
«© [e] o Ot —O ™ < (] o © Lo Lo 3
| | = N 8 8 [SLB 3 g 8 38 8 >
= B Fif BB S S S < N S S~ o = A
S =
RC } ~ | | IT1 | | | | | | |
LA 1o 4700 1lop o < o © — o
4900 g & N N NN N i ©® o &N o N =
=2 = K252 2 T K8 &2 O 2

Ry XA~k 9




ARG T/KES = Ve "
MERSI—F| X % 53 th 4 #8 N 5 %8 ®mEE S JIL =R
=JL 31> AR ) O =
. = . _ — s\ 53 3
GA o % = 2395 T x 18,19 mExFmHHErX ( XmEmE S 40 »
39-4 A BiRE & B 8 #®
1 : 500
0 10 20 30 40 50M
EEEww | | | |
| 1 i
|
! % I (10) 5E 7
I X | e = |
I — 5 —-——-—-::::::"_‘_::::::::::: ———————————— -~ 8
—————————————————————— e e e e e ? T H 0
s——= i - =
1811-1 | 1810—1 " § 1798—-1 H 1796-1 N 3-8
' il 1 I
B =
%EI —~_ - — — 1 ],
/
\\ ) 1 [ pp— = ep—————— T — — ._Ll__l______l_L__C.—-——--—U— ——————— ="
- o ° 0. 222
NO. 238 13400 1. 0% 325;%'" NoO.R20 e N e w_j—__Tr?—o_—_To-“__jf%:*_”\\J
W‘W _____ T T o o - NTT O—O— \\ / ; v - - . N ] -
| S —— S I — = . S ) SO =~ = 65296721 I _ !
“’"Qq - % : > T N I H= = -40690. 854 | 201071
| Ny
, | - | | 1952-1 . e S ,
| B I - | teee— o= ———=======c===============4| & || 19563-1 o= 8. 31 |
|| l} || 1916-1 lg Il 1918-1 | [— L % / e — o P opun » g
[ o H {_:L__v___z__U___v,__:___"__,_v,__ji_v_——'-'———f——i — . t———=
1915-1 i i | iy G | M39-4] | RN %
| [ =] Lo e — — — — 1= —
' }L“g—gg—;—;—;*é__—l:iii_;f_;_i_; Ei oSS TTTTT T ) }) s | l} % .
! % | T L | 1 ¥ | ’
‘ | L ' |
’ |
' H 1 EZ-ILISR : | 'l | '
I | | | H | Gl
! | nl | | o |
20.00
15.00 |
fets 3 TS . v . T
B fEER s=1:50 FEBrE s=1:100 i
F NO. 221 -
10.00 | :
4300 | 15.020 | S/ |8 B
| | Y |z 50
450 300 2800 300 | 450 L L
‘ ‘ ‘ ‘ _ H=1:1000 1 oo
—— GL=13. 770 . o 7
3 _
N DL= 0.00
o
— 7 [13400 1.0% 325. 054m [13400 0. 2% 277.972m
2 MITK 39-5TK 237.276m 39-4TX 224.200m
Lo
5 R
- o5 PR RBA6S 4R (ISR & 45 e
] s S F£A
I BREE F
=i
1350 . 700 1350 i I I — I @ 70
N (=] [ee) Lo < [=>]
] T ®Y g S e 2 = S 54
Lo Lo Lo o 7o) Lo 3
[=2]
~ I I I | I I I
N (=] o D D D (9] 3
Hh fE = B 8 ~ > =S 3 = A
S - o3 o o3 i 5 =
[ 8 [ | | | | | |
_—Oo
S 2 = > S 2 3 2 S
EE = o “ « = ~ -
o 4700 o = = = ¥ D ¥ alld
4900 Ry A=k c\" c\" c\" c\l, c\l, c', C\I, .
S g g g Y B g R
Ry s ZAILN— b B EERE § g S § E % § 16
= a - a — a F
o o o o o [ee] N 3
. 8 8 8 8 ST &
Lo Lo Lo Lo Lo <
| | | | | | |
o o — ~ . <
. S S S S SHE N PR
AR S S S S s S
= = = = = = =




MERXRSO—F

X 73 88

EEHES

HRIRET/KES

40

41 42

=JL 31> AR ) O = 41
3 = 3 — = s\7 3 3
GA EE Y = g5 394 19, 20 Jite 55 ~1- T € 14T [X ( &S "
39-3 BRa E F OB 8
1 : 500
0 10 20 30 40 50M
EEEww | | | |
H g ——_—::::::::::’:{,:::::::::::::::::::::::::::::::
i e 5 o 1
E L e JL oo oo - I A\
R | ettt T L LSS e 1 I —~ '
: I i it I ~
g 1771-1 | 3 [ @ o
I & U - - —=
o i _ ] ] e — — 1 .
| i i = - —1 — ?L/ e H —————— T = — — —rr -
| /
/I \\ — = B e ————S B S ——————— T ——— T — T — — — — — T —————— P e — B e — —7
I Jr - T I
! 259. 381m 40230 '
L e T W /AN e
————— s = il © i — S A 10} = = = = i
Yy oM e g — . ‘_éér. P (oL N— ——— — -
. T - e %'Q L S ] v X = -65018. 850 |
| {E \ D AUTO TOPS JAPAN Y = -40694. 590 I a
| N4 ] o - L 1-1
. K | N4 7 2% 8% 3 342-1 h 4 S
Il 2017-1 T 27571 L ———————cil]—(i—————————_::::::::::::::::ﬂl,::::::::::::::::::::::_ _______
]:ﬁ 2016_1 —Jl iég‘ ﬁ\_j I __T___T__T__i-—-_ ——L—i—-i;ﬁ 15 o d d hd v v 7 ; g ____________________ ll}
e N
% L £ EE _H :7[ I 6 || }
[ q 7 I 2 |
0 | = i . i I
N
= ! # 1 | |
| NS \ L X
I I L
| :c 'I I H I
[ L ————— e ——————— — — = - T T - " T°" """
L ' I S I - —— - —— - T - CES T o ———TTTTTTTTTTTTTTT
0 [ | 1 Jte—————— s o - - - - o ———————— = |
5
©
20.00
15.00
ot s s _ e IS _ 10. 00 | u
B REER s=1:50 FE TR s=1:100 -
F NO. 227 - _
o & |& _
S/ |5 5.00 |
0 _
_ ] ]
H=1:1000 ]
4300 | 15. 000 | —
| | B
450 300 2800 300 450 DL= 0.00
‘ ‘ ‘ ‘ [13400 0.2%0 277.972m 13400 2. 1%0 259. 381m
GL=14. 449
3 BMIIX 39-4T X 224.200m 39-3TX 237.500m
<t
S iz
&) & X BIEA6FHR FBERF & IBHR) ERL
/ £A
8 EREE F
o
© I I I I I I 2
— = <r ™ ~ ) ™
al o T wm v S 3 8 © I ® 54
Y2l o8 s © © © © © &
™ <
=~ I I I I I I I
1350 . 700 1350 - _ - - - - - 3
B = & g 3 8 8 3 N A
— BEE < < < < = <
g | | | | | | |
~
- : : : s 2 3 : %
- HE® < < < < < < < % A
o
o@ | | | | | | |
| L B S S S S N R F A
o <r < <r < Lo <r <
S B ANEERE o 3 g 2 2 @ X 16
a S = 5 = 3 >
10 4700 100 T - - - - - = F
4900 Ry ZHIN—k = 2 = = S S = 3
. o o o o — » o
X R BR Bt s g p s ~ ~ o A
Ry U A= b Lo e Lo o © — >
| | | | | | |
Lo © ~ [eo] [=2] (]
- = & RN & RN T & & PRI
Iﬂ] nn (ZD § <ZD § § <ZD §




43

MERSO—F| X & th 5 48 INEE R ®EE S *E*ﬁ“lfﬁiﬁ?ﬂ(ﬁﬁ 4 42
(

GA &M g = 305 IR 20, 21 ﬁﬁ%ﬁzzﬁffﬁﬁ‘ﬁy X [E]g"n? 42 ) e A R B 48

==
1 : 500
0 10 20 30 40 50M
EEEEw j | | |
————d=-——————=—=—o = s = == [l Illl
I
i 5 T | I ¥ I 513-2 FaN eSS N~
345-1 a I 436-1 2 b S12-1 i s
437-1 N = fc _ _ PR = - - — i
— s — g I - L ot - BN K
—— e U _ - — 7o Ny NG T i —
: 5 % \ _.—-___LI_.__._.——_L%.__./ \_J];_____Ll_ ————— - - — — T — — — — — 0 — — — — J 8 S — —Tl — — — —— —
- e — \\k Q I _Le _____ P 2 S ————— B - - - —— — [ & S ———— _u___‘l__:u:/ \;:E___u_____u_ __________ __&T___.__u_ _____ o — = — — — = —
e = g—————“— ————— e T. 28 T29 “~ :’9‘[’”_2
\, 1%
| ¢=10. 88 [
5 NO. 238
Jiroon 39] 13400 0.4% 243.890 ° o ___] I
: : e e (SO CI3400 0 4% 243 890 Moo e _
. o1 [13400 2. 1%0 259.381m NO: 232 oY PS— S oy = - : == \ y .
= ——F — — —r /—rr—.—————n—————_—_—rr —————— D el & Sl— aor—— — T — — — = j:l—_g'-.—?—d/—j:r/_‘JV/ N\ /, # NTT l I'm_ = = - - _
= o ¢ mégr __é_—-—-_ NTTO o ) . _ “——__—__‘_Q—;T_‘ - == 2] Iai = — — 1 | _ ] - . -3 "—*"ur li =
S : S M N i : - — —= - X% 64759.303 — - ! nsE - I
' ! " , Y = -40698. 237 | . 509-2 E I .
4 s |- HROUZW D ] 506-1 | 5 601-1 |
341— : [ 440—-1 508—1 & | IL - j J1 9 [f===——==F=-——======
¢ . o 5 o T o o T — o v _ 9_ ] g I1 = llll
----- S : y . l: : | |
_________ i A e . 1 [ B ! | I
E ] T 5 I i
1 p L ——— - STCE——————— ] 0 [ l\ N 0
;i s ] r 6 | !
! 4 I 'l = | [ !
1 q | b35S |I I
= H Ll [ ] i
= - - o o ' | b LR LS| S PR
e _— v __ < < _ ¥ ¥ ¥ === all v | r—— - - - - - - - ___ A~
| I | e epenpenpuepenppenp—ES St S h o T [ 1 |
] \ Il | I [ 1
s PSS \ :: 1 :| I H
! A 1 | ¥ ! N ¥
20.00
=~ A= =l FO ) ™, . N
B REER s=1:50 Foa T ] s=1:100 o B
F NO. 232 ]
10.00 | -
4300 | 17. 200 | : ' [ i —
I I
450 30Q 2800 300 , 450 & g ]
. GL=14. 862 M T - | A o
3 H=1:1000 _
5
5 _
! / DL= 0. 00
< [13400 2. 1%0 259. 381m 13400 0.4% 243.890m
— s MITR ||39-3TK 237.500m 39-2TX 308.000m
2 s o T
={- o5 PR RBA6S 4R (ISR & 45 e
1350 . 700 . 1350 A - %A
B2 =
R I I [ 1 | | EE *D
o S S 3 3 3 2
~ T #® Y — - S S — N 54
© © o © © © 3
[ [ [ [ 1 [ [
S 3
3 3 o g 22 ? = A
o e = ~ 53] > SO — ~
I I vc—>c> & = < < < oW o o
S = = = oL Lo Lo
[ [ [ [ 1 [ [
10 4700 100 N > S = s 3 2 5 B
4900 Aw & R AILIN— k B < < - 55 s " & A
N o I [ [ [ 1 | |
Ry RABILIN—k N N N SN N N T %
< < < o< < <
B A0 R o % < >3 < < 16
=2 2 2 == = =
- a - — - a F
o o o — o o 3
. 8 8 8 s 8 8
I Pl P o o e e it 2 g
Lo Lo Lo <r Lo Lo
[ [ [ [ 1 [ [
— N ™ <r Lo (=}
(2] [ag] (s AN (s (g} N
A ‘“ « « o & Q RS
= 2 = 22 = =




HERSO—F X 73 88 h & |

N 5 3R

EEHES

GA ERMEEX ' K

39-2

F39-1 T 21, 22, 23

FARRIIGFREL T /KESR

AN

MEAR T BT (

m&EHFS 43 )

42

43

44

) BEa E E B ®
1 : 500
0 10 20 30 40 50M
e | | i |
— ———— = — =7 ‘ g | 1
I UTTTT SRR ULy —— = o,
, u - eHR 745-1 \ "8"
_ f‘\ |\I (#0) REEH 9
PIHFRNSR AV ____,‘ . 6692 I~ “ EARTH g
AN il k\/ |\ 750-1 %o,
Il ltO:-§
r T T T i I - o
S 0¥ OJ&/@ N
g—ﬁ———io#— ————— Y e e e ——— SEE St = Ny ———— ——
BiE 4 628 GEEES » Big)
5. 549 5. 584
: o -~ w0 0 %e0 03600 0.8%0 257.902m - No. 241
4 — ——— —— == — = i © e — S—— —_ = — no-2%8 T - T — 35 ___:_ 18— ONTT o — = = Y T_uge
e =5 : ¥ === = = 0o = T 210 — — -
Y . I —
— 1 |
T T
I B A= 16-03-538
1 || pLI R = 100 753-1
I 600-1 o) ¢ TL= 13. 223
" 5 0 CL= 26. 293
\1I;:::::::::::::::::::::::::::::::::::: N % SL= 0.870
| ; = 753-1
I g i JNI-5T59UK
I ;:% 4 >
I , E
I [ ¥
I 3%
I =
Y
FEBT s=1:100
NO. 239
20.00
o GL=15.216 = T —
15.00 |
/ 00 |
o ]
R ]
o
10.£ 1
fts 3 -0 .
B fgER s=1:50 u
- ]
\Y S
SN —
C F S = 5.00 |
v il T —
H=1:1000 ]
4300 ]
DL= 0. 00
s 450 . 300 2800 300 . 450
RET ‘ ‘ ‘ ‘ 13400 0. 4% 243.890m 03600 0. 8% 257.902m
) = MITR 39-2TX  308.000m 39-1TK 93.921m 37-2T X 827.623m
RCE5 A2 b 3 ETn o
S e P S RSHACS 4R (IR 7 4 —— (5 Cimem i (15) RiB4654 GBILEE ~ I6) ek
[ap] T 1)
— F£A
EE s F c
I I I I I I I 1T I HE *D
D <t (=} ~ Lo (=} — oo Lo
S £ Y g 5 . 2 g 52 BE € 54
™ g I I I I I I I I [T I 3
1350 700 1350 > Q2 L o« 0 5 o N 28 S
i S N ~ SR & © © ®  ees & A
2 o) Co o) = = CNC S
R I I I I I I I I [T I
(=>]
~ & S 53 18 2 & 5 5 28 8 o o=
EE = . . N @ « ~ ~ ¥ SSs
§ I I I I I I I I [T I
S S S 2 g S S B 2 g8 3 T
: ' = . - = =~ © T ~ = . — YN e
2 B EERE d g g g g d g ¢ 8'g 3 16
= > S < S & & NN N =
RCES AV b T T T—T T T T T— T ——T
4900 . 8 S S - S 8 2 3 o838 &
IR = = g o = = g © Zoe o 2
Ry P RANN— b I I I I I I I I Il I
~ (o] [=2] () — [9N]
™ » — ] < < < 0 e
B & > « 4 > > ¥ ¥ Sweoow R—p
m o o o™ o o o O [a 18 [eldoldb] o
= = = = = = o (%3] =um (5]




